2-STAGE WORM REDUCER (WORM+WOR4
S E 1R R RN (MR + U ) 25

MODEL : EH N
F

8-ZxL

Output Shaft
A8

§i[G13%4F Shaft Direction

unit: mm

i el L H
mgg [0 T Foot Stock Input Shaft Output Shaft
Model [1/100[1/1000 AB BC CC|LL [HL
200 |1/36 ZxL TxVxHK| LS WxYxLK
1/900 (1/3600
60 ) 12 0 22 25

116 207 100 198 110 86 60 42 75 177 55 100 77 124 M10x20 25 13.5 4x4x25 5 TXTx45
70 1/8 - 260 121 216 130 86 70 50 85 205 65 125 85 154 M10x20 25 12 13.5 4x4x20 60 28 31 7x7x55 17
80 1/4 - 295136 245 140 105 80 60 92 232 75 145 96 174 M10x20 30 12 13.5 4x4x25 65 32 35 10x8x60 23.4

100 1/2 1/4 346 158 290 170 120 100 75 115 290 85 185 117 226 M12x24 40 15 17 5x5x35 75 38 41 10x8x70 41.8
120 1 1/2 407 185 330 190 140 120 95 155 370 100 220 132 264 M14x28 40 18 20 5x5x35 85 45 48 12x8x80 66.6
136 2 1 471 219 375 214 161 135 105 185 425 110 260 150 306 M16x35 50 22 25 7x7x45 95 55 59 15x10x90 97.2

MODEL : EHM

&

Input Bore

Output Shaft
H 8

unit: mm

Ratio \ HP FBER IEC RS ABDA oAl
Hu g Motor Flange Foot Stock Input Bore Output Shaft
\'}

Model | 11100[ 111000 A

ZxL
80 14 - 323136221 140 81 80 60 92 232 130 110 160 M8 75 145 96 174 M10x20 127 4 11 65 32 35 10x8x60 24
100 1/2 1/4 370 158 256 170 86 100 75 115 290 130 110 160 M8 85 185 117 226 M12x24 ]g; g 11 75 38 41 10x8x70 448
424 130 110 160 M8 16.3 5 14
120 1 12 2% 185 291 190 101 120 95 155 370 100 110 799 M8 400 220 132 264 M1ax2s 103 ° T 85 45 48 12:8x80 68
135 2 1 499 219 330 214 116 135 105 185 425 165 130 200 M10 110 260 150 306 M16x35 g;g g 25 95 55 59 15¢10x90  98.4

G50



